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Exercise -Present Continuous Tense (Key) 

1) Is it raining heavily? 

Pos: It is raining heavily. 

Neg: It is not raining heavily. 

2) Are the children laughing? 

Pos: The children are laughing. 

Neg: The children are not laughing. 

3) Is she wearing a hat? 

Pos: She is wearing a hat. 

Neg: She is not wearing a hat. 

4) Is the teacher helping? 

Pos: The teacher is helping. 

Neg: The teacher is not helping. 

5) Is it snowing lightly? 

Pos: It is snowing lightly. 

Neg: It is not snowing lightly. 
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